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�
 �� ��
 
�� - �	���.)
 
�	 �
 � ��/
��।  

�. ���� ����	
� ���� 
����� ������ (24 ��� �	�	) ���� ���	 ����। 
�� 
��� �������� 25 ��� 
�
� 
��। 
��� 25 
� 
���� �� ���	�� 
�� ���� ����	 
�	���� �
 ��	 ���	? 
Subrata writes a letter to Ruponti every day (in successive intervals of 24 hours) from Korea. But Ruponti 
receives the letters in intervals of 25 hours. What is the number of the letter Ruponti receives on the 25th 
day? 

�. ���� �� ��, 2  	 ���
 !" #�� ��$��� �%�&�	 �������� 2 �'( )�& ���� ��$��� �%�&� ���� �*! ��।  
Prove that, the difference between two prime numbers larger than 2 can’t be a prime number other than 2. 

�. 
����� 
��� !  
����" #	�� $�� ���� 11 ��� !+�, ��
 �����-। !+�,	 ��� �� $���� �� �� ������ !+�, ��, 
�� ��% ���� 
$���� � ������ !+�, �� ��। 
����� ���� 16 �� $��� ��  13 �� ����� !+�, &�"� ������ '��� 
���� 
��� !  
����" #	�
 
�� 
�
��� $�� ���.�-? 
When Tanvir climbed the Tajingdong mountain, on his way to the top he saw it was raining 11 times. At 
Tajindong, on a rainy day, it rains either in the morning or in the afternoon; but it never rains twice in the 
same day. On his way, Tanvir spent 16 mornings and 13 afternoons without rain. How many days did it 
take for Tanvir to climb the Tajindong mountain in total?  

�. ���� (�#	 !��/ #�� �%�&� )*���� ���
 ��। �0�1
 �%�&����� (�� 
�� ����� $��' ������� �2 ��� ��� �%�&��� 
���� (�� 

���� !�/���� $�*� ���
 3�� ��	। (�� ��	�� �� �� 
���� ��� ���
 3�� #	��। ���� +�,
*�� (�� 16 ,� 2 )*���� 
���,
���� $�*� ���
 3��!,���� 2×2×2×2 = 16। ��4 (�� 18 ,� 9 )*���� ��� 
���� ������
 3��!। ��� ��� 5	 �0�1
 
�%�&�  �6 7
,��7��8 �!�9 !��� 3��!। :	,���� ��� �%�&� �7���! 256 )*���� ����। ������ �'( �'( �%�&� ����& (������ 
�0�1
 �%�&� ���$�� )*���� ���� $�*� ���
 3��!? 
A magic box takes two numbers. If we can obtain the first number by multiplying the second number with 
itself several times then a green light on the box turns on. Otherwise, a red light turns on. For example, if 
you enter 16 and 2 then the green light turns on because 2×2× 2×2 = 16. But if you enter 18 and 9 then 
the red light turns on. If the two numbers are equal then the green light turns on. If the first number is 256 
then for how many different second numbers will the green light turn on? 

�. ABC $������ �;'��9 AC -�
�*�। D, AC �� �:&�!<�। BD �� !�:=��%�>	 #
� ���� �!<� E ��8�� ����। E ���� BC 

�� #
� )�?� �� AC �� F, BC �� G �!<��� �-� ���। (�) ���2 �� ��, DEF ��!�@ ��� ∠ACB = 300 । (.) ���2 �� 

��, ∠ACB = 300 ��� DEF ��!�@। 
ABC is a right triangle with hypotenuse AC. D is the midpoint of AC. E is a point on the extension of 
BD. The perpendicular drawn on BC from E intersects AC at F and BC at G. (a) Prove that, if  DEF is an 
equilateral triangle then ∠ACB = 300. (b)  Prove that, if ∠ACB = 300   then DEF is an equilateral triangle 

�. ABC �;'��9 AB = 7, AC = 3, BC = 9। A �� ��A ��� AC !&����:=	 !+B ,/�� ����। �% !+�B	 �� �!<��� B �!<� ���� 
$����� �0�� ,�& ���� B ���� �
 �0�� ,�&? 
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In triangle ABC, AB=7, AC=3, BC=9. Draw a circle with radius AC and center A. What is the distance 
from B to the point on the circle that is furthest from B? 

	. ��#	 �7��	 ���	�����	 ������� �C���	 9�& �	� ���� ���� ��� ����&।���	����� ������� $������ ��� ���� ����� ���� 

��� �� ������ �C��� (�� ����	 D��=& ,��� ������ ��E	 $��� ��, ��4 �E�� 
,��� ������ ��E	 )�:=� �� (&����� ��
�)। ���� ���� ���� ��!� �����% 
!&!7�	 ��� (��। �.� ��#	 	�9��; �% ���� )*�� 
�"�&। 
��� ��� ���� �!	 ��
 
���। ����� ����� 
�� ��
 
�� 1 ������ ��E	 $��� $�� ����। 
��� ����� 
�'��	 '��� �!���� ���� !&!7�	 ���
 ���। �� �����2� ���
�
 �� ��%�� ����� 
���7	 ,�3�
 6F��� �-�� �" ���
 
��� ((��
 -��� �-�� �-�� 4��� �� ���� 

���)। 1 ����� D��=& ��  �E #��6 20 ����� ���। 	�9���;	 1 ��� ���� �!	 ��
 
�
 $�� �����?  
Each room of the Magic Castle has exactly one door. The rooms are 
designed such that when you can go from one room to the next one 
through a door, the second room's length is equal to the first room's width, and the second room's width is 
half of the first room's width (see the figure). Each door can be used only once. Magic Prince has entered 
the castle and now needs to get out. To get out of each room, the prince needs time equal to the width of 
the room. The prince has to use each door to get out of the castle. Due to the blessings of a Sufi, the 
prince can become as small as he wants (so that he can go into even very small rooms). If the castle is a 
square of side length 20 meters then how long will it take for the prince to get out? 


. �!=���� ������ �;'�9 ,�& (���� ����� !�@	 D��=&6 �G2=�%�&� ��  $����� �" !�@��	 D��=& 10। ��� ���0!�@ �;'��9	 
�%�&�8 �!	 ����।  
Find the total number of the triangles whose all the sides are integer and the longest side is of 10 in 
length. If the similar clause is applied for the isosceles triangle then what will be the total number of 
triangles? 

�. !.= PQRS  ��'��! 5�� 7��� ��� P, Q �!<�  ABC �;'��9	 BC !�@	 H��, R �!<� CA �� #
� � S �!<� AB �� 

#
� )!E�� ��	। A, B, C �!<�.��1 !+�B	 !&���:= R । AB = c, BC = a, CA = b ��� ����8 �� 7�� 
aR
bc

SB
AS

2
==== .  

Given triangle ABC, the square PQRS is drawn such that P, Q are on BC, R is on CA and S is on AB. 
Radius of the triangle that passes through A, B, C is R. If AB = c, BC = a, CA = b, Show that 

aR
bc

SB
AS

2
====  

��. ���� +���� n 
� 
� ���� 1 ���� n ��=� �%�&�����	 ����। +���� ������	 ��:& ��� 100 ���� �!'�9& 
��� +���� 
�

� 
�? 
The n-th term of a sequence is the least common multiple (l.c.m.) of the integers from 1 to n. Which term 
of the sequence is the first one that is divisible by 100? 


